#irisClassificationDisplay-x3x4.r, (C) 2014 Shojiro Tanaka
#getwd ()

#objects ()

#list.files()

#thelp (foo)

rm(list=ls(al [=TRUE))

IXDADT—2(29 5 (cmEfL; RICFOHMEAIAFENTILNDS)
datal <- subset(iris, iris[, 5]=="setosa’)

data2 <- subset(iris, iris[,5]=="versicolor’)

data3d <- subset(iris, iris[,5]=="virginica’)

#FEY, 28k - HoRGEDEE

meanl  <- mean(datall[, 3:4])

covl <- cov (datall, 3:4])

invCovl <- solve (covl)

denoml <- (2xpi)~ (2/2)*sqrt (det (covl))

mean?2 <- mean(data2l[, 3:4])

cov?2 <{- cov (data2[, 3:4])

invCov2 <- solve (cov2)

denom2 <- (2xpi)~ (2/2)*sqrt (det (cov2))

mean3 <- mean(data3[, 3:4])

cov3 <- cov (data3[, 3:4])

invCov3 <- solve(cov3);

denom3 <- (2xpi)~ (2/2)*sqrt (det (cov3))

IRRDEBOHREEKRD S

#tcov <~ (n1*cov1+n2*cov2+n3*cov3) /N
cov <- (covl+cov2+cov3) /3

invCov <- solve(cov)

tR/INDEFE (0Ocm~10cm, 1mmE)
r <- matrix(0, nrow=1, ncol=2)
¢ <- matrix(0,1,3)

t <~ ¢(0)

z <- array(0, dim=c(101,101))
for (I in 0:101) {

x4 <- 1/10
for (k in 0:101) {
x3 <- k/10

r <- cbind (x4, x3)
c[1,1] <~ log(denoml)+(r-meanl) %x% invCovl %% t (r-meant)
c[1,2] <~ log(denom2)+(r-mean2) %*% invCov2 %% t (r-mean2)
c[1,3] <~ log(denom3)+(r-mean3) %*% invCov3 %*% t (r-mean3)
# c[1,1] <~ (r-meanl) %% invCov %*% t(r-meanl)
# cl1,2] <- (r-mean2) %% invCov %*% t(r-mean2)
# c[1,3] <~ (r-mean3) %*% invCov %+*% t(r-mean3)
t <~ min(c)
if(t ==c¢[1,1]) class <- 1;
if(t ==c¢[1,2]) class <- 2;
if(t ==c¢[1,3]) class <- 3;
z[l,k] <- class
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image (2)

dev. new ()

#tpar (new=T) .
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contour (z)



